DR EPEREERI IR

Bxovise 10,7
@$ r ’L\l :Y )

o) Flrlg) @ dr=rv'way

C= ,d:,x-i 1S Xe¥ oviewnsed fvom yeft wﬁglq.

A 4t )

SYW)FT ats _
r 2T Xv/ﬁ»/Fum 1=t %)
v = (1 =47 Lt
) F ren--r t)at -fo .F "~
gA)LY ) dt [ (4 I)Wo
= (47 -1)ak |




B0 gm0 frosxel

SN X) OExE)
TS ) 0Sve

A= Taeey
f Jirat-t® di+qet ar

f LT It 071; “’) Ot s Gt PA%




Qi Loy 8=, rib) = (2035, k1) for Dst<2
- Fr) = bt

’it)zz lz,:bfq*) 3T

‘-ft; bt~ ar

= fnz bt ,I’q 127

= 239, 7b'! ~2298

Y

\

PA N N 3N N

T —

“* Qi ‘FLX;V:%’-?CG? ) PIECcewise Yivgay VWWW o.l)tvv

N
N
L

“3

P000eesgssssnoe

UL CLELA Rl aen

It poiT Abe0.011) B be(0,2,0) Clogliin)
Ap: AT ¥-(B-M=(0,0.1)+ 1 (0,2,-1)

= (0/ Zt/ "t)
2= |-t

; ]———"x 0 - y 21;:
iy ® "'5,:*’?;*' dﬁ%@t

f u—w ié’ aa
fﬁsﬁ dt = 0.

BC: Bttic-B)y=(0,20)+¥(1,-,1)

- = C'b Z*t)t)
M=t y=2- —t  Zot
oS = Wﬂ—:m,h—ﬂﬂ
f t-e’ EF%—%;O% |
— etz L 48¥ |
CA:' C'f' f[A"C) X;}'tfy:-’l't
- C/f/l/)‘}' 17["/;"/:0) -7-—'{
=—{—t+b1) T
0{5: : z

7.0625

[ t-tr-e' et ot = seorT

[=] g =]
in
[E*g

N S

<t

(0,30t UM)



No

Date

—

e e e
v B e

Q7. fofaS-f ? Vt)= (48, 3, 12t) 2 < e
riee)= L4, <3, 12)
= A4 12% T 1D
fB |- 1308t =39
2

the mregral means the dhstance from
(8)-b.24)and (20, <15, bo) at plane xequalry

BESY DEXE2 O (X, X ’) pExe2
NI Lt,1°) 0SbeZ. -
XUt) =t Ulfﬂ"i'z’ &b(-—(oh“ d};,ztdt

D DDIIPIIOD JLOﬂJ=0=6=0<3<0~0&JuJ:3~0«J<3z9-J'J

. - oS = A 7 =1 orh]
T —prta
e b __;ko} —,1;7'.,;-[;7' dit-_ = f_::'tz.'d't
— SONE - 1,32
- =
g
—— e = ~3
. Campus T
M - —!




e

R29. JC 0‘")’) d"“ﬂ Boly + 203 w,p,o)rv Ui Y)
0,0,0)t - (14 ) _,O-b gt , Yt)
ols— JTTHb b =33

f (t-4t) A+ (4t~ —ut)yat + ¥ ot ¢

=[,! -3tm +ibt dt = st At
13
z

=

-y ax+o (/].0) to L0,1)

d;o)—rt /., 1) =d-t, t)
wir)=(-t). Y=t
QX = -]t , ay:/ﬁlf
/\ ] —4.-] ot +U-1)
7}

-t t?
-,—Ji?’ =s1.5708
e”)

p= Lo,o,o) AI0,0,!)B 60,1:') 8= (1, 1)

PA : Lolo,mﬂo,o,f_)tt« (0.04) O=F=2—
g ch,)r,z-):(e 11D

f e oa#—f@IOdt-r; | ot

:l-f’eiott.:‘;"

!?:%@



—_—

AB: 0.0,1)F ¥ ( 0.1,7-1) = (p, o

©, t,1-t)
_ -t -
,théy:%)*(e' ne,e’)
fo e oav+ eV lot+ et (-t
:fol e-.t_... 617 adt
BAR: Covl, )+t (~1,0,0) = (~t,1,])
Fhoyny=!, e, o")

! [ _
/; e (Nat+e " our 4 o

% "'> \ . \

i

aa TmY A

2222302922022



Exevcie 15,3 ‘
Q1 let Fu:y,a): X? simup) | FV £, evalna¥ fc E oly where C IS
any path fvomi,0,0) oL, 1,7)
N R smud})
F= v9= (¢ stnlyd) s 5Tnk3) +XY C051¥3)-2, xyCos Ly2))
v F= T
oo Fe= fpr-fup)
f“: ), Tv) - {LOJDIO)
= 1 smmv-0=0
Fluy)= B3y’ 1) > (6,317 ) fov (£ T EY
grol of F.

4)=\b, 287
- Fuuy)= VF = Biby) ! 75
27 oy s ey V=0

[ pav=]%03, bzt") (1, ~
[ 3wy * oty

Fitiy)= Wb, by
e VGV?‘WF vt &%vm\mm&wehmew’e

2y7) At

¥
oot bt
9
= =l
Ro. Fuy)= e trxe )twe k Thyi)z LAY
vm- (¥ Y, 4 for1év<e.

Speub =(e?, xef, xye’)
it 94 consevvohive.
1 Ym,rz %% t—:))
"y =(2t,31
%) ;t,yg ) ol

Y 6
J‘O va-—fjx\l g% 17-7lce _r e ") (2% 3171))0“
.,f 27-{7 @r'+3f et +{7 @t ) ot

—

—

@ e



\\
—
N
Ay
<
<
4> ]
<
™~
X
<t
<
<
~—
poR
<+

| (
«J
I3
®.— (V]
\
-

- N %
Q9. F"o;'ﬂ”\ﬁ-re‘)uge k ‘
Findh potention) function for F ov Clefeym i

3ys o
AVMSWON: Y Ft\oli -\*b)‘ﬂ-’r@,\))il;lé@ k
WP =I%F=z]a |
RARZ=ATA §% }%x %? %?
IR
- ile®: e¥)=jlo- 011k (7Y~ 20
=(0,0,9)
o Eisconserative.
Fzyf =Uafy.f?)
Px:'jz
f=[ydx= xyY’+9ly,¢)
50'{3!’& = 2Yx+0,(vy,2) =2xg+e?
XN y(”)?}?@
P2 xy’teht hiz) .
%@F’ E%j—} hit %) :\Ije
h'(%)=0
hl%)=0

f’ 61'3 +’le

of40

7}

W that P

Oly. 2=’ )

H_E AN EMEEE S Sl-i-leoll-l-A. 3 B A M EEEEEEEER



CWE=VE- | } .
a
B &
U T Ytwam
=U-D; =) (R WL - 50l X )+(0-0) K
= (0,0,0) .
SOP W OV SeWOrT TV

F=qtad (7 0% B rjﬂ'mm\)
Fyz 707X
£2[ fxdwz 2romx 1 QU P)-
= 0! k3 =
& %%\?‘4.;; 21 i3)
Pz Zromxt Bytmd)
O 5o X ryt W) 2 Yreomn

h'(%) =0
W) =0

F:grmm %+ 2

R Loy, X4E Tty
) = Py 4y)1-§10-0) T KB

ok % %’\%\ 210,0,0)
T X ‘U[j St s consenortive:
F=v§ = (o, X2, ~uy)
Pr [E yoxtoy )
%’yf—: X+ Oyly®) = W 4R HQ}G)
o gy (Y,3) = - 2 ggy,g) ”“"1%

[=]

i

i
XEL

2
e

1
"
"y

E
3



?*Xz'f)’fw‘ YYF )

L
oh 1Y) =
- "'"\-} '\'V\ L.:b')" —\'rﬂ .
a J Ln )0 nig) A u
N )ﬁj-&"ax -1Y7 :
| ET R WLE; .
et 2V A+ A j i "
Yovm:u’:s‘m]}rj' ¥ ) Ao =42 . !
] . - : 2 YU"
- cwvl ¥ = \ %’\* % g@ ;1(11“7( )f\f-()i\cuj):
e w2 oy | T %i‘) wy
LAt s conservative. LG I
> fy= -LY\j% |
[ 4w 292 19.3)
d_ 310,32 ¢
% %y L0010 q{,lj.?-)fﬂ—f'hl})

P= 723%+o+n!%)
Y f= ¥+ 0'(3) h'ie) =0
\\\f-;xjyi

YLE)7 L2, ST | gt-3F)
= 120, 1= (0,0, 1) o U

., vy V“l):(q,,rl@, e ) :(ﬂn\)l)
} tr“g’_’m')« Fu,071) = b

(11

EERE
R e
frdod.a
S



9. (ot £ =9, definav [ F OV
o xy-%  Nzlti4.0) o< el
Y2z Lt,t%,0) vevEl

X _F;,le_,% FS‘FV'F-'—OX‘{}’ %))
"“DY Yl : Whe\ﬂt: 0. Y]-’P: [.0;0:0)
Y= \(|'..'—P; U;IIO)

oy ¥2: whew t=0, 4= 10,0,0)

Whew t=| y2:=(1,1+0)

WYl z=Y? V|5'V2
\ Lt—fO) o=

SRz e (2xy, A )
V|;(.tl'b10) Y’|§3 L, 1,0)
V2= L, 82,00 ¥y = (), 0.0)
o X oy, %
] Yo L Xy 1) s L 00 o
=(y gy ¥t ot
; T
B A 2. I o =)

Skol (l)(\j,x”, "U'L,;l'l;,o) 0+
- l\l ('2‘\;3’ 't-bo,/l)'(,l,l't,O)(‘A{'
T 3 y
A A
= [y ‘zﬁﬁ?—»rc
- '\70(‘0 = |
© 7t 1y inoeed |

(W}

Poy FLR) - fvp )
e - Fip)

= "’LI:'IO) = “’LO)OIO]
= (1-g- 0-0) = |



